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FIRST PART

Child Development and Pedagogy

In late childhood period children
understand the conversion of which
physical entity ?

(A) Number only

(B) Mass only

(C) Only Mass and Number

(D) Mass, Number and Area

Research on newborn’s sensory
capabilities indicate that :
(A) The world is a confusing jumble of

sensations for newborns.

(B) Newborns can do many things
including recognizing voices,

colours and smells.

(C) Newborn’s vision is as highly
developed as adult’s vision.

(D) Only hearing is fully functioning at
birth.

Which of the following demonstrates the
emotional attachment ?

(A) Learn to walk
(B) Development of language
(C) Learn to eat

(D) Separation anxiety

&t Taerra|ua torer vmet

et ST W e Wit SR 6 Y
e B YR [T A € ?

—_—
o

St
A

) fuk [ 3T HeA
(D) oA, FfeA SR &

(C) Wﬁﬁ@wmﬁq&
firerft frewfad 2wl 2

(D) < [ e g oAt @
Tﬁ:ﬁl‘ﬁmlﬁ?ﬁ%l

Frafafaa § @ $H T T Sl Sl
2

(A) e firE
(B) T | forsrE
(C) uﬁmgwﬁw

(D) 3TER f[A i S
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Which of the followfing is not a fine motor

skill ?

(A) Holding the
(B) Jumping '
(C) Buttoning
(D) Eating

Which of the f¢
acquisition of lear
(A) Habit

(B) Knowledge
(©)

(D) Attitude

Maturation

What is the corre
4 stages of cognitiv

things

ollowing is not the
ning ?

ept order of Piaget's
'¢ development ?

(A) Sensory motg
Pre-operatis
operational.

(B) Pre-operatiohal,

f, Formal operational,

binal, Concrete

Concrete

operational, $¢nsory motor, Formal

operational.

(C) Sensory mo

tpr, Pre-operational,

Concrete operational, Formal

4,

5.

frefafes & == gt fraos Fioa T8
g7

(A) T HI TS

(B)

(C) &&= o

(D) IS &

frefafad § 9 S diay &1 ol T8 82

(A) &<
(B) I
(C) s
fgfa

(D)

s & g3rs fas™ & =) =Sl &
"H@ﬂ?ﬂi % :

(A) WoE! forareass, A imares,
& HisHATeHe, TYE [iharH® |

(B) Yd wfshareas, & Wiharas, dagl
forareass, froanfie dimarcas |

(C) Wt foramenss, qd dfkameTs, =@
frarcas, avenies diwars |

operational.
(D) Pre-operatiohal, Formal (D) Td Hfrarws, ig=nfis wiFamcs,
operational, Qoncrete operational, @ HiFaens, Hagr Haee |
Sensory motof.
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10.

11,

The period of life when the body

undergoes changes leading to
reproductive maturity is called :

(A) Adulthood

(B) Adolescence

(C) Childhood

(D) Infancy

Emotions of a Person are identified
through :

(A) Joy and Pleasure

(B) Self Ascertain

(C) Individual Differences

(D) All of the above

The proper order of prenatal development
15 :

(A) zygote, embryo, fetus

(B) embryo, fetus, zygote

(C) zygote, fetus, embryo

(D) fetus, embryo, zygote

At what stage physical, mental and
emotional changes happen rapidly ?

(A) Adolescent

(B) Childhood

(C) Senescence

(D) Adulthood

Direction of physical and motor
development in a child is :

(A) Cephalocaudal

(B) Proximodistal

(C) (A) and (B) both

(D) Not fixed

10.

11.

&
:
3
1
£
E
%

@m#ﬁﬁﬁwﬁ%;

(A) 3= ikt
g
(©) St frTansd 4

(D) ST frft |

EC-LCRCEat:

= [—

!H@W%:

g

(A) THTS, yor, TeiEerfery
(B) O, 7 corfere], grHel
(C) TS FofEefeRy, 4
(D) Tiofeerf§, o1, THAS

fr rarEen 1§ [T, S T W
ofad 9§ & ?

(A) ToremrapEEn

(B) SIS

(C) FoEH

(D) g

e

ATt e aen e famrd i faem
B ®

(A) fathefEmied

(B) sﬂﬁaIr&c:m
(C) (AT (B_)a‘r:ﬁ

(D) THfv=R

|
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12. Dyslexia is a disability. 12. Texafemar wh 1 e ¥
(A) reading (A) Hed
(B) writing (B) fora
(C) reading and] writing (C) e 3 fermm
(D) difficulty ij mathematics (D) o § =igan

13.  According to Erfkson the stage that 13. U % T 59 H e T ¥ Ht
occurs between bigth to one year of age is G & HL I STy Hafig ¥
considered with ;

(A) Autonomy @g. shame (A) g 99 v 9

(B) Initiative vs, fouilt (B) YEH SAM HAY 1Y g

(C) Trust vs. midtrust (C) Toreamy 57 HAfavarg |

(D) Identity vs. iflentity confusion (D) 9&= I 92T wifq 9

14. Process of learning takes place : 14. HiE = 9 2t €

(A) Only in classfoom (A) To% Fer-wea o

(B) In the schoall (B) ¥l % T

(C) Outside the [gchool (C) vIen & =

(D) Both within|¢nd outside the school (D) e % 3T AT TR SHI S

15. How do nature [gnd nurture control - 15. -WHfa 3 S fasrm =1 ¥ frifas w@ g2
development ?

(A) Nature is mpre important until (A) 9 % Y&fd 03 meaqol Bt ®,
birth, then myrture takes over. T EECIGR Il O JfteT BIdT 2 |

(B) Nature is/| more important (B) 9 uHa fawm & ghm JFd S
throughout |the course of human Hew g0l 2t 71
development.

(C) Nature is |mportant only at (©) YFfa Faa m9iuA 3 SFd 79T |
conception anid during the prenatal YUl Bl ¢ |
period.

(D) Nature and furture interact from (D) WA o do mufeEen § e e
conception |pnward to control 1 Tl %3 § ofa:frm & 8
development.

SPACE FOR ROUGH WORK / T% &1 % ford e
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16.

17.

18.

i 5 8

A ‘Y’ chromosome contains a gene named
o thet produces a chemical
substance that ultimately causes the
zygote to develop into males.

(A) SYR

(B) RSY

(C) SRY

(D) RYS

A teratogen is an external agent, such as
a chemical, virus or type of radiation that
can adversely affect the development of
the
(&)
(B)
(©)
(D)

central nervous system only
fetus only

zygote, embryo and fetus
embryo and fetus only

A communication system of reading and
writing that uses raised dots on paper is
known as :

(A) OCR devices

(B) Braille

(&) Technological aids

(D) Manipulative and tactile aids

Usha tries to incorporate new features of
environment into her thinking by
modifying existing schemes. She is
using :

(A)
(B) Assimilation

(C) Accommodation

(D)

Organisation

Identification

16.

17.

18.

19.

Y Wﬁ#_#wsﬁqﬁﬂ%@[
@Wwﬁ:amﬁam%mm
wwmﬂtmﬁﬁm’%i

e T ST IS ST T TEE, A
awwmww%@lﬁwﬂamﬁ

fwrrg &1 gsifad S Whdl

(A) ot Felp i oA

7 Ty
5 ety

e o faed & ﬁq@wﬁaﬂw@i
wmw@.ﬁ@ﬁwmaﬁﬁ%

A S S €
E:iCE!

et TEEE I

61 i ﬁﬁﬁwﬁﬁaﬁﬁmﬁ

| e =iy W wOEA FW
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20. A child who

days it is wrong to steal

because she rrjght get caught, would be

in Kohlberg stdge :

(A) Punishmjent and obedience
(stage-1)

(B) Individgalism, purpose and
exchangd (stage-2)

(C) Good bay or good girl (stage-3)

(D) Authorify and social order

maintainjng (stage-4)

20.

TF 9= S Hed! & % =9 S Ted §
ifeh o YHel & Wehdl &1 98 € hictar Wi
IR ;

(A) HST q IR (F0-1)

(B) eHfed shigd, ware aun fafa
(FU-2)

STTST TTSHI A I ASH! (T-3)

ATYFR Ty GHEITES T F471
(F797-4)

21. Visual-spatia] dysfunction is a 21. JUI-¥AIT R U YT
digability. 7
(A) mental (A) wEEH
(B) learning (B) famH
(C) physical (C) v
(D) social (D) EHISH
22. IAT is a group of teachers which : 22. RT3, forarnl H1 UH FYE R N ¢
(A) helps r¢gular educators solve (A) sfaara fasrai 13 1 e § Saiid
problem|with individual disabled e F ea o frafya faafad St
student'q eligibility. HEIAl A |
(B) helps t¢ develop syllabus for (B) Tomain 9= & WA 1 fawiaa
disabled |children. F H TErFa a2
(C) teaches gpecial children. () fafore s=df %1 vgm@r 81
(D) teaches {flormal children. (D) T = %] g e |
SPACE FOR ROUGH WORK / 1% & o fo1df 578
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23. Lata knows that mixing of yellow and 23, @ S @ T O 3 et T = e W
blue colour gives green colour but when = T W B R | e IR e e
asked about the colour obtained by AR g fier T HFA-|1 T 9T &,
mixing blue and yellow colour she fails % I TR Y El | S Wi H 2
to answer. Her thinking lacks :

(A) Conservation (A) GeE

(B) Reversibility (B) SERHV[IEE 1
(C) Magical thinking (C) ngE i
(D) Clarity (D) ¥=Al Wl

24. ICDS programme reaches out to all 24, EHELTY EapER % AY

children in the age group of : g % uY =i 3 feAu, IeTed 2 |
(A) 0-6 years (A) 0-6FH
(B) 6 - 10 years (B) 6-10p
(C) 0 -10 years © o0-1qp
(D) Above 10 years (D) 1099 [&F &R
25. An older child is helping a younger child 25. TH &g T BIL = I veE TRl U HA
to complete a word puzzle. The older T gAY @ e | 5" gl wadr & &
child says “wait, put one word ata time.” T A H[Us e 2 gg e
The older child is :
(A) Helping younger to cram. (A) = f B2 I B AR A g
(B) Helping younger to understand. (B) HHIH # B 5= HI HEE FL W B
(C) Helping through discussion. (©) <=1 [ mem 8 91 9= W AEE L
. W@ gl
(D) Doing scaffolding. (D) et FT T8 |
26. Who are exceph‘dna[ children ? 26. fafeme s I € 2
(A) Physically disabled (A) [ w9 & famei
(B) Mentally disabled (B) WHFF He
(C) Whose physical attributes and/or (@) ot g fasteand. @/steren drEd
learning abilities differ from the Ft e gl § = €
normal
(D) Who-are at risk (D) S fifEE | E
~ SPACE FOR ROUGH WORK / T &t & ferd e
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27. In teaching mgntally retarded children 27. HAMEE H2 9= % fam § f1= 9w o o
which one of the four below rules shall 4 fordl 78 19T =ifee ?
not be taken cafe of ?
(A) simple tojcomplex (A) HrEwo § Sfed
(B) concrete|fo abstract (B) Hd ¥ 3ud
(C) whole tg fpart (C) & Hw
(D) only simgle or concrete (D) Fael FHR 41 e
28. “Mental retardgtion refers to significantly 28. ‘'HrfEs® Hedr § aread Heeyl ®9 9 9H
sub-average || general intellectual Y %Y difsF ywda § § S gewmiis €9
functioning resglting in or associated with q S =1 IR THES HeER § S
concurrent iipairment in adaptive fammars srwr ¥ weffa &t 1" I€
behaviour mlanifested during the BIECILl] BN &l e
developmental|period.” This definition
is given by :
(A) APA (A) wHLT
(B) MCI (B) TUHHILIE.
(C) DRDO (C) <SamEra
(D) AAMR (D) TTUHAR
29. Educable childfen bears IQ of : 29. Togw Amg = &1 gfeai
Rk
(A) 90 to 110 (A) 90 ¥ 110 &%
(B) 50 or 75/fo 90 (B) 503754990 dh
(C) 20to49 (C) 20949 TH
(D) below 20| (D) 204 =
30. Primary emotigns are : 30. grafEes HATE ¢
(A) pride, shime, sympathy (A) T, ¥, Feryfd
(B) wonder, fear, anger (B) T, 9, LSS
(C) pride, fegr, guilt (C) TE, w4, 7@
(D) shame, ahger, sympathy (D) 9, 5, TRy
SPACE FOR ROUGH WORK / T& &4 & ford smg
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32.

33.

34.

SECOND PART / fgdta v

Hindi / T&=<

Forl v w fawe unfas awget
I AEE H TEEET § IE g’ -
TEFYAR

(A) §H

(B) =

(C) =

(D) 3wk H #5 TE

et

el § T &rar foerE o o gey e
HEYUl hIvA @ :

(A) G AR den

(B) He AR feram

(C) foraT iR sem

(D) I, Sier, foma, ve

“HET U EATE U § T T it
i 1" 39w F1 g 49 Ru 1 ey
T T Bt 82

(A) @A UF YR § 319 i =6 wiwm
g

=T faanl = = w0 5 9w E
& TEA Bt WiRal SiieAgdd ged
¥l

I0ga Tt 9 |

sl 9 IR % fou SA-5 ufwar ol
FATR?

(B)
©

(D)

(A) == H1 39
(B) wE=THS 94T
(C) ¥I% I/ =t AT
(D) ITF woft

35.

36.

37.

38.

Hedich 1 el ATy gt 98§

(A) ==Ai &1 frafadl =1 @i |

(B) UrH-Uet|eh feTg eTHm s |

(C) == =l Hier wd famM & Ty saet
AT |

(D) il fd|# dres g =9 91 2R
E ok iLical

e =i TR R

(A) =

® @

© ¥

(D) ™

“ereEl w1 VTR 9 WIS FT Yl 94

TAfTET U STHET qe B

(A) TEfaal Jred % fau uw e T
ST TH FAT B

(B) el o eitaal € € sae forg a=ai
Sl UHAT[ITET |

(C) o1 i |Fqsd & fau wscshiv 9
TR &) J 9T foiy ey e =g

(D) =r=dl =i prafadl 7 = F <1 et
g | =R F 2

Hedidha 1 YA 4l 2 -

(A) SYSRIHH foreor s

(B) w=Hi FI[UcAIFT & oL U A F
fom ol

(C) At i HfeEal =+t wg=mA|

(D)

draa S| ufwan %1 3R 3 99

SPACE FOR ROUGH WORK / T% @14 & fed| & e
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39. ATHEA FT9 F [ER YAUT TH W PN 44, TS & f9ER F GUE F YHE FA T 92
Hfafem & § 2 TE I FEd ¢
(A) dfSea 3TdeH o X
(B) AT e (&)
(C) THfew e (B) ¥I=MYER
(D) *E-3MHa (C) =TT
40. TES swrar 1 A IHO FHA TR T F o B
Ww@twrﬁ?
(A) TE<t s e e 45. frefafEs v €9 F oMR W ‘Fr’ o
(B) | frevmera ¥
(C) TE&t um Y H&aH
(D) %ﬁuﬁ;ﬁf;mmﬁ (A "IN
(B) o=
41. ?ﬁaﬁ?mwa‘qﬂaﬁ/vﬁlﬂﬁ%? (C) Wgyd
(A) TS Feiteh] pRT e 7
(B) TSI HFE G SHsd FHafd B (D) face
(C) e Fi|we v oft forggmr €1
(D) T W & S &9 € a6. s 1 |y Fredg 2 :
42. TR H HE A A R (A) Ifuw +TF
(A) fa@ g9 pd e, we B (B) Iy + J%
(B) U@ 1 31¢ RO Al AT AR AGH
o ¥, (€ g+
(C) @A F e SHIE 1 TeTH, TR (D) & + i
AT T Wl TR TG o ¢ |
(D) eI, W] [oiR ARl o 3vef e A : ,
F WY AT T F HNS ¢ | & 3 TN R Y o SR
43, ‘4mF I S| R (A) T
() (B) T
(B) FeTH |
() ferdrem (©) e
(D) foam (D) TEEE
SPACE FOR ROUGH WORK / T% %14 & ford s
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45,

49.

50.

51.

e < B S IR S ©
(A) G S

(B) Tr * ferg wer=l

() g A o @

(D) e Ae ¥ wgEs

feifend mﬁmmqﬁmaﬁgm%:

(A) EEHR
(B) TR
(C) THAHR

(D) FUHPR

o s Fretaa i 4 ¥
(A) &
(B)
© 7

(L) ®

¢ syfeafa’ B saE
(A) &

(B) ¥

C) &AW

(D) &fy

52.

53.

54.

55.

'ﬂﬁﬂﬁ“ﬁﬁﬁ'4¥ﬁi%:

‘ﬁa,maaﬁm—@'ﬂ‘aﬂ%ﬁﬁﬂﬁ
M %9 oW fraE F1 1 CIEZ R R e
aifera TR i SRE ©

(A) Hifess HEaEl FT

SIERE

(€) T we fear

(D) Tewma-fgpm 7 F1g

c
E
:

'wﬂ'mtwhaﬁfﬁmimﬁﬁqﬁ%:
(A) @
(B) FaiwdI
(C). A
(D) =UH

oy Tl T £ 7' A TR W

v e R

(A) SETETEH HeTH, IvEfe, Therd,
EREQCE

®) wfTeyEaTas wdAm, uafa,
uFHaH, FHEH

(C) Tl gaad, qfee, THeE,
EZ:ED 0

(D) VTE[E TEAH, T, T,

e LED

SPACE FOR ROUGH WORK / T® =4 & a9

6210/ TE-FET/GLE-M

13

Set - C




56. ‘=M’ ¥R T ffFE v Y o A S 2 ey srafea v w6 ufen wd we we 59 o
60 ThT 3T AT |
(A) TUEHEF
3 o=t o enyfreram fawedi wom fr@ T @ €,
(B) AT SV ITH W & TR W g0 ¥ W ouE a8 ww .
Gl & for 39 o@l o wiw o=l & #1097 e
(C) wifaaTg® # YfTE ®Y T, YR g w STevEsarsi
s =i ) gl w13 &1 foon § spwer A
(D) =fFaE® syfEpTEa w9, YRR 1 9o |
57, g B s 59. YaiH 3fufed TMEM % HAMR W =AY fF
i ot : fet ong H Sl favm e e @ § 2
(A) G mRh
(A) - fawet o o s @ €
(B) &HHR
®) Foffariwomfa@asnw T
© T
(C) Y fawdl 1 U @ | fow 1@ B
(D) faen
(D)  smyfrehey fawel W o fore s e @
58. qHA A 3T HM R 3R qR W@ & A
a"“?:{gamf; 60. I Tuf3q MW F ITG wiHE S|
(A) forerakaus (A) emgfe fe<t
(B) T=31 9 (B) faredt fet
(C) Hehendip (€ frosdfe=t
(D) faurm= (D) fe<t 7@ 3iX 37
SPACE FOR ROUGH WORK / T% @19 & fold sg
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61.

62.

63.

THIRD PART / Jerd |
English / TS

He 15 in

good health.

Choose the most appropriate alternative
regarding the use of article to fill in the
blank in the above sentence.

(A) a

(B) an

(C) the

(D) No article should be used

In the process of teaching and learning a

language, the textbook 1s :

(A) the only tool

(B) one of the tools

(C) the tool for evaluation

(D) the guidebook for teachers and
policy makers

For Continuous Comprehension

Evaluation, assessment 1S :

(A) Formative and Summative

(B) Formative only

(C) Summative only

(D) Neither Formative nor Summative

Directions for quegtions 64 to 70 :

Read the followinf passage and answer the

questions.

Edmund B
Fourth Estate of

ke called the Press, the
realm. I think he did not

use this title for the Press thoughtlessly as a

social ruling groug

or class. The Three Estates

of Realms (in England) are the Lords Spiritual

i.e., the Bishops

ih the house of Lords, the

Temporal i.e., other Lords and Commeons i.e.,
the common peopje. The Press has been rightly

called the Fourth

ruling group oy

Commons. ltcan

that the Press exe

Hstate as it also constitutes a
class like the Lords and
Lot be denied in a free country
¢ises a good deal of influence

in shaping publiqopinion and pointing out the
weakness or defedts of society or of Government

and, in general, b

or bad things i}

otherwise remaif
not limited or pu

instead of being

life and thought
ttate by itself.

constitutes an E
Obv

ringing to light all those good
society which would have
led unnoticed. The power is
i under any check. The Press,

Lontrolled by anyone, controls
hf a nation. Hence the Press

ously, the power which the

Press in any couritry wields, depends upon the
number of newppaper readers. The opinions

and comments ¢
life of a natiorn

f newspapers can influence the

only when they are read by

people. Readifig, in turn, requires that the

general mass df

people should be educated.

Thus the sprea H of education determines the

extent of the np

wspapers. Where readers are

SPACE FOR ROUGH WORK / T® w4
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few, newspapers 1
influence, in the ¢

minority of popu

64. How does t

(A)
(B)

(©)

(D)

it enli
it keef

Govet

e, can extend only to a small
lation.

He Press exercise its power ?
5fs the support of the people
Db watch over the acts of the

mment

it cont
nation

as a g

tols the life and thought of a
!

reat business concern

65. How much|power does a free Press

possess ?

(A)

(B)
(©)

(D)

66. Which one

only that much which is allowed by
the Goyernment of the country

unlimited power without any check

unlimited power subject to -y

maintehance of law and order and

public

orality

no power at all

df the following is not the

function of alfree Press ?

(A)
(B)

(©)
(D)

shaping public opinion v

to suppprt in all times official policy

to critidqise Government

to exprgss social evils

67. What does the term ‘Fourth Estate’ stand

for ?
(A)
(B)

an arealof land

landed property

lust necessarily be few. Their  68.

69.

What is the secret of power of the Press ?

(A) the money which the newspaper
owners can invest

(B) the number of newspaper readers

(C) the extent to which it supports the
official policy

(D) the patronage of the Government
enjoyed by it

What determines the number of

newspaper readers ?

(A) the low price of newspapers

(B) the patronage extended to it by the
moneyed people

(C) education of general mass of people

(D) the availability of newsprint to the
newspaper owners

Which one of the following is not included
in the other Three Estates ?

(A) Lords Spiritual

(B) Justices of Peace

(C) Lords Temporal

(D) Commons

Which of the following is not an

advantage of teaching through a text

book ?

(A) It gives room for group and class
discussion.

(B) There is possibility for original and
free interaction.

(C) Creativity increases and it builds up
confidence.

(C) social rgling group or class (D) Group work gives a good cover for
(D) instrumgnt of power chat and gossip.
SPACE FOR ROUGH WORK / % & & o =g
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72

73.

74.

75

A teacher can encourage students to
speak a new language by :
(A) Allowing them to speak freely while

tolerating their mistakes.

(B) Allowing them to speak while not
tolerating their mistakes.

(C) Allowing them to speak only by
listening and repeating.

(D) Allowing them to speak while

punishing for every mistake.

Choose the antonym for the word ‘bleak’.

(A) keen
(B) placid
(C) base
(D) bright

A teacher needs to develop clarity about
the objectives of a teaching plan :

(A) before teaching

(B) after teaching

(C) while teaching

(D) during recapitulation

This is how one plans the teaching-

learning process :

(A) Observation
assessment, followed by planning.

is followed by

(B) Assessment is followed by
observation, followed by planning.

(C) Planning is followed by observation,
followed by assessment.

(D) Observation, assessment and

planning make a cycle for planning
process.

76.

/47

78.

For language
encouraged
literature 1

because :

(A)

garning, children should be
o read a lot of children’s
H the target language

language is'Caught’ through plenty

hs children away from
ing teachers and parents
5 in improving numerical

S0

it prepares students to face the

des that await them in life

se is not a right answer ?

questions give more scope

Creatiye thinking

of expg
(B) it kee
disturb
(C) it help
skills a
(D)
challen
Which of thg
Open ended
for :
(A)
(B) Rote I
(C)  Critic
(D) Probl
“ A system of

arning
thinking

n solving

signs, such as sounds, letters

of the alphdbet, words, figures etc. to

which meahings are assigned based on

conventions].
The above $t
describes :
(A) Code
(B) Text
(C) Messag
(D) IsomI

N

4

atement most appropriately

rphic
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79. My brother |s six feet 82. Choose the most appropriate one word
substitute for ‘a collection of people at a
Choose the gprrect alternative to fill in the Joicham c oatBeI
blank in thejabove sentence.
(A) audience
(A) high
(B) spectators
(B) tall
(C) congregation
(C) hike
(D) viewers
(D) height
83. Regular observation of student behaviour
80. A learner ¢gn be motivated to learn a by the teacher is a part of :
language bylgiving :
(A) Formative and Summative
(A) rewaiq assessment
(B) punishment (B) Formative assessment
(C) both r¢ward and punishment (C) Summative assessment
(D) neithes reward nor punishment (D) Neither Summative nor Formative
assessment
81. He is born rich parents.
84. Choose the word which is not ar
Select the mgst suitable preposition to fill appropriate synonym of the worc
in the blank jin the above sentence. “ambiguous’.
(A) for (A) doubtful
(B) of (B) wuncertain
(C) from (C) equivocal
(D) by (D) surly
SPACE FOR ROUGH WORK / T% &Td & fod o8
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85. In teaching English, a multilingual ~ 88. They are all therd but
classroom 1s : Choose the mosf appropriate alternative
to fill in the blankK in the above sentence.
(A) a headache
(A) 1
(B) a hurdle (B) me
(C) an asset (C) he
(D) she
(D) None of the above
89. I have four
; \ : Choose the modt| appropriate alternative
86. Which of these is not an important to fill in the blafk in the above sentence.
component in designing a teaching plan?
(A) son-in-lay
(A) Number of students expected to be (B) son-in-lays
present on a particular day (C) sons-in-lahy
(B) Teaching aids (D) sons-in—lIvs
(C) Number of words used in writing
. 90. What would hppen if teachers do not
the teaching plan. g
prepare teac plans ?
(D) The previous knowledge of the (A) The teacljers would be free to teach
students. anything} according to the
demandd pf the students.
(B) The teacher will get more time to
87. A teaching plan is incomplete without : prepare for the class.
A1 O (C) The teacher will not be clear about
4a) Cbjectores the objgctives, activities and
(B) Group work material$ [required for teaching.
(D) The students will learn as much as
(C) Co-scholastic activities they wottld have in a class for which
the teacher would have a definite
(D) Homework plan.
SPACE FOR ROUGH WORK / 1% & & fog /e
6210/ TE-FET/GLE-M 19 Set - C




FOURTH PART wqy U
Mathematics UG
91. Ifa place in|lhdiais 75°E and currenttime ~ 91. W@ ¥ & ¥ 75°E ¢ q¢1 3W WH W
at that placglis 8 a.m., then what will be TAE T 8 am. 8, 99 dHarE (0° W) H
the time af the Greenwich (at 0°) ? IH &1 GHY 1 2 2 (1°E=4 )
(1I°E=4 minjites)
(A) 3 am (A) 3 am.
(B) 3 pm. (B) 3 p.m.
(C) 3 :30 hm. (€) 3:30 am.
(D) 3:30p.m. (D) 3:30 pm.
92. To move ffom specific examples to  92. fafere Sewwil & WHRIH & 3R 95T
generalizati¢n is known as : ST S €
(A) indugfive method (A)  #FHA fafy
(B) deducfive method (B) oA fafy
(C) scientific method (©) =t fafu
(D) generdlization method (D) \mEIE fafy
93. The averaggof five numbers is 80. Ifone  93. ofg T &1 e 80 81 AfE 7 A W
of these nunrjbers is removed, then average de 1 gl fou s ®, 99 oma 90 ®
is 90. Hen¢¢ the removed number is : 3A: TR TE WEATE -
(A) 70 (A) 70
(B) 40 (B) 40
(C) 60 €) 60
(D) 80 (D) 80
8 € a
94. 5 d 94. Gk
Lol P - e i mon g
b b d
~ d (a—2ap)=Db(c—2ad) s d (a—2ab)=Db(c—2ad)
This methad of solution is : T il AR fafu ¥
(A) synthgtic method (A) Wi faf
(B) analyfic method (B) favaifusr fafy
(C) inducfion method (C) A fafy
(D) none| pf these (D) TTH | B T
SPACE FOR ROUGH WORK / 7% &9 & g we
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95.

96.

97.

98.

Which one of the following areas can be
used in calculating most of the plane
area ?

(&)
(B)
©)
(D)

Area of Triangle
Area of Rectangle
Area of Parallelogram

Area surrounded by circle

The main feature(s) of mathematics

curriculum is(are) :
(A)
(B)
(©)
(D)

Ambitious

Coherent

Teaches important mathematics
All the above

16 labours can complete a work in
10 days, then in how many days
20 labours can complete the same work ?

(A) 15
(B) 16
(C) 20
(D) 8

A vehicle travels 2 km in 5 minutes,
travels 40 km in 1 hour, and travels
600 meters in 5 seconds, then average
speed of the vehicle is approximately :

(A) 150.33 km/h
(B) 160.33 km/h
(C) 16533 km/h
(D) 175.33 km/h

95.

96.

97.

98.

i#ﬁi?‘lf@ﬂ H gl TR & U Eogi|
A TRl & e e HE o g ST
a1 ST a1 SP

(A) P 1 e
(B) TG W1 HARA
(C) FEFATRR Has & &
(D) = & Ty 8 < e

o 1 T wICH) T T E(E) :

(A) RIS
(B) &
(©) e o T
(D) TR

mqﬁgwimﬁmﬁa‘fﬁ@ﬂ%ﬁ,'
& 20 ST St A fo T W QU
e
(A) 15
(B) 16
(C) 20
(D) 8

e ared 5 e o 2 fo o, ST g, 1 HUE H
40 TR, weldn £, @ 5 FeHve 7 600 Hi
<o S, T e T S e ¥ T

(A)
(B)
©)
(D)

150.33
160.33
165.33
175.3

fep. |1, /8.
fep. 1. /H.
(ER:1WAH
[ERWACH
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99. The problem(s) with current curriculum 99, FdAE YIFEA # (F) VL :
is :
(A) Textboo} centric (A) UgIIHI hid
(B) No comlection in subjects (B) Towdi & weddy =1 319
(C) Lack of flexibility (C) EAYA F AYE
(D) All the gbove (D) 39U |t
100. NCE-2005 ernphasises on constructivist ~ 100. TIF YZa=d1 % T9@l (T.HL.IH. ) - 2005
approach of ldarning as it focuses on : AT ¥ A IYFTE R IE St 7, F
£ W HfEd
(A) Memorisation of definitions and (A) uftsmssi R g3 = 9’ FA
formulap
(B) Submission of regular homework () Trafia Terd s A
(C) Active jparticipation of learner (C) Tiafafi § wfver # gy Roefelr
throug]'nlingaging activities =t wfera yrierd
(D) Effectivé lecture and instruction by (D) T g Fomelt SATEAH SR SR
the teagher
5
101. Approximate|value of 101. 1+, 1+ ik
+
\j;\h*i’[:is‘ 1 g/ T B :
(A) 0.581 (A) 0.581
(B) 1.581 (B) 1.581
(C) 1.185 (C) 1.185
(D) 0.185 (D) 0.185
SPACE FOR ROUGH WORK / T% &Td & fordl g
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102. Which of the following number 1s

103.

104.

irrational ?
(A) 3.3333......

(B) 5.63636363 ......
(C) @1y x (18) 72

(D) (256)% x (16) /4

A classroom is 20 feet long, 15 feet broad
and 12 feet high having seating capacity
of 60 students. If one student needs
50 cubic feet (cft) of fresh air, then how
much air is less/more than the available

one ?

(A) 500 cft more
(B) 500 cft less
(C) 600 cft more

(D) 600 cft less

The main goal of mathematics education

157

(A) To help the students to understand
mathematics

(B) To develop useful capabilities

(C) To develop children’s ability for
mathematisation

(D) To formulate theorems of Geometry
and their proofs independently

= oy HEn HIHE 27

—

102. TrAfafed # 4 4

(A) 33333 .41

-

(B) 5.6363636p......
© 62 x P

(D) (@56 ¥(16) 7

103. T FEEH 20 [ T, 15 Wi =gl adl
12 Eiz S ¥ $iT 60 B % ASA I A
3| ofe T BE[H 50 FARE (cft) TS B4
=1 srEvasa B a9 sevaEa § e/
s Topalt Ee e € 2

(A) 500 cft T
(B) 500 cft B

e §

(C) 600 cft PR

(D) 600 cft [fFH

104. o =1 foen

0

T A ST €
(A) i 1 wifvr TogA § HER H

(B) SyAnt franadi i T T
(C) == o forara wfeenati =i e

(D) ool B e s Tl B
w9 H {0

SPACE FOR ROUGH WORK / T w4 & g 9

6210/ TE-FET/GLE-M

12
153 ]

Set - C




should
mathema

106. Developmjent of which of the following
;t be the aim of teaching

cs in school ?

(A) power of decision making
(B) scieftific aptitude

(C) merhorizing capacity

(D) abiljty to analyze

107. Putting||together known bits of
informatipn and moving from known to
unknowry is :

(A) Anglytic method
(B) Sthetic method
(C) Indlctive method

(D) Dedluctive method

105.

[12“2X5+E‘1H:?

106. T § 9§ frge fasg wpa v T

107.

1 3¢99 el o Alel ?

(A) frofa o =t o
(B) SR H
(C) dTeEmed &wal
(D) Tawerur =1 &

T & Gl 3T 1 W W T 91 7
FTE HI S oG], e © :

(A) Swee fafy
(B) wivafys fafy
(C) = fafy
(D) Frm fafy

Set - C
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108. The shift of focus from teaching to
learning is mn :

Syllabus Centered Teaching

B) Child Centered Teaching

Teacher Centric Teaching

None of these

109. A teacher prompts the students to
prepare Mathematical Journal with the
theme ‘Application of mathematics in
daily life’. This activity is:

(A) To test students’ understanding of
mathematical concepts

(B)

To provide opportunity to students
to share their ideas and knowledge

(©)

To help students to develop sense
of mathematics

(D) To help students to connect
mathematical concepts and its
applications and to share their

knowledge and ideas

110. As per the NCF-2005, the narrow aim of

teaching mathematics at schools is :

(A)
(B)
(©)

To develop numeracy related skills
To teach algebra
To

measurement

teach calculations and

(D) To teach daily life problems related

to linear algebra

108.

109.

110.

H zeEt diEs F whET W

:?ﬂd ﬁ'{&ﬂm

T <higal e

Ffga faam

(D) 38 | FIf|TE

e Toeren faanfpidt =1 ¢ S Ste # o

F s’ Hww % Wy i SEd

(ufRr) TR A F A SgEn o § 1 9

nfafafy € :

(A) Tenferdi gt wiforde ereaiatl o W
EaRenit) El

(B) W foraRi =1 | FA 6
e | o] STEE ST wA
=

(©) ivre =1 gt farerfm e o faenfefdi
I F

(D) o fEeTed St S F ST
H ey g5 3 9 9@ qun o=
F gE|He § e« g
FT HI

T Q@Zj?ﬁ EET (T HL T ) -2005

& IEW,
?%3?1%:

o

(A) HEATHS
(B) SsrTiUg
(C) wfter]s

i ® Tiforg fare w1 gl

Hroe 1 fasmm

et
q » -

(D) marﬂfnﬁ@mﬁfaﬁ HRESIER]
1 T w1 e
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111. A buffalo|}s purchased in T 10,000 and 111. T 99 1 T 10,000 = ra A A L

Z 10,000 eprned by selling milk in one Tt ¥ gy = § T 10,000 WK AT &1 T
year. Aftef one year the buffalo was sold e =g %8 1 29,000 F 99 feamn ™
in T 9,000] What was the profit/loss wwaﬁuﬁm a7 o1 7?

percent ?

(A) 9% [grofit - (A) 9% @™

(B) 9% [lpss (B) 9% @A

(C) 90%|profit (C) 90% M

(D) 90%}loss (D) 90% &

112. The mair feature(s) of the language of 112. TIfora ST () H@W%C%) :

mathemalics is(are) :

(A) Adduracy (A) W&@

(B) Aufhenticity (B) HHdl

(C) Both (A) and (B) (C) R (A) @ (B) &
(D) Nohe of these (D) T9H | g T

113. Mathenfatics teaching method in 113. I!Wlﬁﬁ’TW‘ﬁﬁImﬁWWm%

classrogmn is a style of :

(A) tedcher’s body action (A) Toeri & SIE-TRE H
(B) th¢ presentation of content (B) fama-o%] F Yoo TH
(C) mfmorization (C) IR

(D) mgntal exercise (D) wrHATES SAAH

Set - C

SPACE FOR ROUGH WORK / T% &Td & foa we

26 6210/ TE-FET/G




114.

115.

116.

117.

If LCM and HCF of two numbers are
30 and 3 respectively, then which of the
following is not possible about these
numbers ?

(A) One number may be 10

(B) Ome number may be 15

(C) One number may be 3

(D) * None of the above

Which of the following is not true ?
Students can construct their systematic
knowledge by engaging themselves in :
(A) experiment

(B) self examination

(C) group work

(D) brainstorming session

If principal amount is halved, rate is

doubled and time is kept constant, then .

ratio of old SI (simple interest) and new
Slis:

(A) 1:2
(B) 1:1
) 2:3
(D) 2:1

One cubic feet earth soil measures 50 kg,
if 5 feet long, 4 feet broad and 3 feet deep
garden is to be filled up, then how much
earth soil will be needed ?

(A) 5 quintals

(B) 10 quintals

(C) 20 quintals

(D) 30 quintals

114.

115.

116.

117.

Afe =1 genei|f LCM @ HCF %HR:
3039413%,3&“3@‘1@1134‘1‘ Floufm=dd
T T Aff 8 7

(A) T EESA 021 el &
(B) o E|]5 B o ¢
(©) e wE|? 8 THAl 8
(D) ST W R T

Py

e H Y wE {1 7
Torzmedt a1 dfeord T a1 IO T

(A) &

(B) STTHRIK™

() = [FH

(D) 37 wffi |
qﬁ:u@waﬁnmﬁmm%aaﬁm
ﬁmm%wmwmr@ﬁmﬁ,m
I ST (EIHT { =7<1) TE T S ST -
N S

B 1:1

(€ 243

(D) 2:1

waﬁzhguwmwm%ﬂﬁSqﬂz
o, 4 Wl <l w1 3 W L S
e &, T [ T ol s 2 7

(A) 5 T
Er&y
2o
E B
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118. The mathen

developed in {

Experience(E)
Language(L)

(A) P,S, L E
(B) S PEL
(C) ESPL
(D) ELP S

wptical thinking can be

e following sequence.

, Symbol(S), Picture(P),

118. Wi fo=R =1 @ 4 fasfag e =

qFd 2

FME( ), wdrw(w), faac), wmicsn) -

(A) =, 9 1
(B) W M= & w
(C) &, 9, fa W
(D) &, 49,99

119. 1f 60.25% of g|number is 964, then the ~ 119. A T TN F160.25%, 964 £, 79 T2 & -
number is :
(A) 1000 (A) 1000
(B) 1200 (B) 1200
(C) 1500 (©) 1500
(D) 1600 (D) 1600
120. 1+ : =? 120. 1+ : =?
: 1 1
I + 1 14 T
1+ 1+ -
2 2
ny 2 oy
(A) 3 (4) 3
8
® 3 iy
7 C Z
© 3 © 3
5 o8
©) 7 D) >
SPACE FOR ROUGH WORK / 7% &1d & ferr sz
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FIFTH PART ToH HI
Environmental PG
121. By joining which of the following two 121, 57 2 aRI 1 e Im 39 WA H AW
stars and extending the line can the pole FgH H g al &l 1 ST Hhal & 2
star be identified ?
7
6
5
3
1
(A) 1%t and 2nd (A) 12
(B) 6% and 7t (B) <6 WH 7
(C) 3 and 4th (C) 3ud4
(D) 5t and 6th (D) 5Td6
122. Percentage of energy transfer that takes 122. T HeE HER ¥ T HieT SER # wemEiata
place from one trophic level to another is : 20 ATl et 1 wfowp B e
(A) 20% (A) 20%
(B) 30% (B) 30%
(€ 10% (C) 10%
(D) 5% : (D) 5%
SPACE FOR ROUGH WORK / T% &4 & fod 97z |
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123. Simple exp

iments and demonstrations

123. A0 9T (S9NTE.) & e § o

can be perfdrmed in the EVS class : WA UE WewiA feres f e wm g2
(A) To engble children to learn on their (A) =i 1 TH HI THIH TS SR e
own apd sharpen their observation &7Ha1 g % fau
skill
(B) To follbw what is being done in the (B) 3= wanadi ¥ 1 foar s € =
seniot [class HIH FHAT
(€) Todigquss ideas, record and analyse (€ BEl F 5 @ T IE F AER W
obseryations on the basis of asfea ud @i 1 fag= # g
questigns raised by students Trdiegorl =1 fereeroor sz
(D) To cogjtrol the students to ensure (D) Tomnfeii =1 Fafm = aen wan §
discipline in the class fediedts =7 w@mn
124. To create a pollution free Environment  124. SVl Yo Gl ST 3 o0 a=i %1 foa
what is the thost important that children a1 =1 S Hed ifues savas £
should know ?
(A) To keep their surrounding clean (A) Y HH-99 oo T @
(B) To preyent pollution of ponds (B) TS/ WS ) gfvd 29 & =
(C) To implant maximum number of (C) s | Afyes ﬂ‘e’ﬁ‘ﬂTﬂ
trees
(D) All of gbove (D) Swl= §st
125. As an EVS teacher, the major objective of ~ 125. Walawur 1e#aq (3.81.04.) ¥ furers ¥ &9
organizing d field trip to a Zoo should T fafearr yqur &1 sEeA +0 & &
be : 3294 BT AIfe
(A) To pjpovide active learning (A) To=mtar =1 afeg sfim {94
experience to students U HTAT
(B) To profide fun and enjoyment to (B) foenfedai 1 3= wa e Suet=t U
students
(C) To hayp a change in monotony of (€ Tica foamr wHiea 1 us@ar &
routine| teaching schedule ECGERI
(D) To sath parents on the quality of (D) Toan =Y Torer & o H s3firaraent i
educatipn =
SPACE FOR ROUGH WORK / T% wh1d & fad smg
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126. Examples of social evils are :

127

128.

129.

(A) Child marriage
(B) Dowry system
(C) Child labour
(D) All the above

The pond water should be used only after

adding alum into it. The children should

be awakened about this because :

(A) To remove colour of water

(B) To convert hard water into soft
water

(C) To sediment light suspended
impurities

(D) To kill germs in water

Smoking results in :

(A) Increase in the rate of Heart beat
(B) Increase in Blood Pressure

(C) Bronchitis

(D) All the above

A lemon sinks in normal water but floats
in salty water because :

(A) Density of salt water is more than
normal water.

(B) Density of lemon increases in salt
water.

(C) Density of normal water is more
than salt water.

(D) Density of lemon decreases in salt

water.

126.

127.

128.

129.

TrIterR FEE & SR E
(A) = faaE
(B) &S I
(C) =i
(D) SH=a ¥R

AT 3 g freed] [ % e ITE
§ o A w= | 39E " H S
mqﬁqwfrﬁﬁ
(A) T O EH[FA F
(B) Far St #1 gg et § qftafdd &1 6
fae
Q) zo freifad sfHEedl o TEfEd F
% fag
(D) H HRE ol Wi A B &
fa

{Hﬂ'ﬁ@'@m%
(A) T3 TIEA K
(B) Y5 aM H gig
() S
(D) 3w @i

T 1 9fg

|

us i T T g S € g

G
:
4
Xz
i

[ YL =1 o A ST 2
(C) T S | S GaugE Se 4§

(D) i 1 S| FErER 9e ¥ wH A
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130. If you take of a tour of children in the
northern partfof this state and ask them
to select the|correct statements about
elephant herd. What will be their likely

reply ?

(a) An elgphant herd has mainly
femaleq and baby elephants upto
14-15 yegars old.

(b) An elgphant herd comprises
membefs of a particular family.

() An plephant  herd  may
accompodate any number of
female| elephant and the young
ones.

(d) Theoldest femaleis the leader of the
herd.

(A) (a) and (b)

(B) (a) and (c)

(© (b and (d)

(D) (c) and (d)

130.

Iz 31 == %1 T T4 & A e T @
wAa i e E FF A F g F
Ty § wE w9 e gefed
IR A ?

(a) @ ¥ goe § Faq sl o
14-15 99 &% o= & Wd ¢ |

b) wfeE ¥ goe # frdl uh @ wER &
T AL

(c) UHgue F gfufrd i sr=ii it wen
fepaet off &1 Hepell 21

(&) oS F wed gt @l @ Egre
e 2t B 1

(4) @)
(B) (a) T ()
© BT @
(D) (@ (@

131. Ask the chilfiren to watch that Birds can ~ 131. T ) % T 3 3 T el Tl e #
move their npck very often. Their possible g 31T feel Gehd €, THH FRO & Wi
answer for {eason of this will be : T IR HonfEa ST e
(A) They dan fly (A) o IS HHA I
(B) The bifds eyes are fixed (B) el &1 A i gl e 2t ¥
(C) The bipds have small eyes (©) ufei w1 SAE B A € |
(D) Theit $ars are covered with feathers (D) T & dEi & H 8 €|
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132. If map is in front of you, the East direction

is shown :

At the top of the map

At the bottom of the map
Towards your right hand

(D)

Towards your left hand

133, The section on ‘Do this and find out’
included in different topics in EVS text
books aims at :

(A) Providing direct hands - on
experiences

(B) Improving performance in
examination

(C) Learning definitions of scientific
terms

(D) Keeping the students engaged at
home

134. Chief source of energy of all types of

ecosystems 15

(A) Sun

Green Plants

(B)
(C) Ocean

(D) Forest

132. =fe T TN 3T TH

133.

134.

forer wef¥ia 2rfl ?

R % e e g e

(A) T F Hed
(B)
(©)

(D)

T 1A (R
# fafiy ye o
@vs F wiEe F

(A) VI I

219 e B

3T ATE 21 T 3R

e H

T % HEW AMTE 9 H

w1 3T

) W 9T TR
b 2 Al e el
RET:

A Suers Il

L

(B) Tan # g

(©)

(D) =R H faanfa]

1 GHIAT

gt veeaEp w1 afteTnd e

Rl = TEl

(D) 9

4 ¥ T ==
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135. Lightning oc
clouds :

(A)
(B)
(©
(D)

136. The use of po|

explain conc¢

to:

(A)

(B)

(©)

(D)

137. National Cur
strongly reco

qur in the sky when two

Exchangg the electric charge

2

Collide with each other

Overlap
All the a

Channe
students

pach other

pove

gms and stories telling to
pts in an EVS class helps

ize the energies of the
in the right direction

Take cafre of the language and

cultural

Promote
explore
the local

liversity among learners

the ability to imagine and
he nature of the world at
and global level

Make tlIe lesson enjoyable and
i

interest

&

riculum Framework-2005
mmends that teaching of

135, T | dfgd F1 w1 gl & 99
Hed :
(A) Toea @y =1 e Yo % 2
(B) U THLH THRI FA ¢ |
(C) U gH T eifeaamgd & )
(D) 39dE |4l

136. TafETol AeAEE (291.09.) i e H wigdal
wd waEl % I9ar 9 feud Heg faed 2

(A) Terenfef 1 st @1 =@ foo & @ o

(B) Taenfeii & =g Wi wd WiEhfas
faferam % wfa weuarE @A =5

(C) =y v AfYas T o fava #1 ypfa
I HeqT T 9% aled i &Hal i
R

(D) 3TA I HSER TE U= A H

137. US4 qrea=at i FUE@-2005 F SFTER
yrfae T 9 gHieL Egya famaro

EVS at primafy stage should primarily ({dum.) &1 W@ 3 A =1y
aim at :
(A) Acquiting skills to carry out (A) s €9 FER F I Heerr sAfed
- experimgnt independently AT
(B) Linking|classrcom learning to life (B) wefia sifar %! foamed & e %
outside| the school SieA 9 ”dﬁ?ﬂ
(C) Memoriing basic principles of the (C) Tawa & smarsa fagr=ii ! TRo ST
subject
(D) Developing understanding of basic (D) fowa =+t snuryg SHeqel F1 Tad
concept fof the subject forsfad e
SPACE FOR ROUGH WORK / T% &4 & fera W
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138. Which one of the following teaching
strategies will be most effective for

139.

maximum involvement of students in

teaching the concept of food chain ?

(A)

(B)

©

(D)

Ask students to explore possible
food chains operating in different
habitats.

Ask students to collect related

information from internet.

Ask students to copy all examples
of different food chains written on
the blackboard.

Make play cards of organisms to
arrange them to depict different
food chains.

Vitamins are the substances -

(A)

(B)

Required in small quantities to
prevent deficiency diseases.

Required as medicines to make us

healthy.

That increase our metabolic rate

leading to loss of weight.

That build muscles to keep us
strong.

138, =3 & & i i fae IS T S{Ee
ugr ¥ franfudl =1 Afgga qrfer % fon

ey gHTET &l 2

(A) fafiret aTraTEl § Hg aren S ifad B
_ ﬁi@mﬁaﬁ@‘mmﬁ%mﬁmﬁﬁ

ol el |

(B) ferenfeiEi =i fexfe | gafam FE

THE H B

(€) =H-ES W
% fom wdt

T hgAr |

& forg fernfiai

7

(D) Gﬂaﬁ%tﬁmgﬁmﬂtﬁmfﬁ?ﬁ

g =i fafv=

T 3% A BT o fag el

139, Ferarfie T wEre €

(A) i =g Tl = % fan 37eq AEl

H ayavas B

(B) S T T % for stEeEs S
g1

(C) S ITIEE ) aga & e SR
g § T 7] 2

(D) < F e prTER T A S
TE © |
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140.

Maximum ndmber of food chains are

140. Frefafaa 5 9 feg ofifefss 95 ¥ gag

found in whigh of the following type of iy @ sfaend ar s €2
ecosystem ?
(A) Forest ¢dosystem (A) =7 =1 yififrafas |5
(B) Pond efpsystem (B) dres 1 wiitfrafas a5
(C) Desert grosystem (C) wErIE 1 vIiifE=fas o
(D) Grasslagjd ecosystem (D) =09 % HeM w1 wifeerfas o
141. Which of the|following does not come  141. Frfafaa § 4 0 sragy § 78 smar?
under child Iabour ?
(A) Childrer} working in factories (A) == %1 B | w1 FE
(B) Childrerf working in grocery shops (B) =il =l TN %t g § H1H FHT
(C) Childrer] working in Hotels (C) &= 1 T § 19 Tl
(D) Childregh working in their (D) ==l %1 3799 F1Y Bl § e L
Agricultpre fields
142. Which of the following activities are 142. F=1 8 § %1 9 foraam o4 & faaw &
responsible fpr the disappearance of feTq Seerdt 2 €2
forests ?
(a) Mining (@) @
(b) Dam cggstruction (b) =i =1 Fmior
(c) Collectiph of leaves and herbs to sell (c) ufcdl ud ol 1 GURY X SR
them in| fhe market EERl
(d) Weaving baskets from bamboo (d) =g & IF g
(e) Makingllpaf plates from fallen leaves (e) Firdt Eﬁ afeei & THe FE
(A) Only (a) (4) FF (a)
(B)  (a) and (b) only (B) F (a) T (b)
(€ (a), (b) apd () (©) (a), (b) W@ (q)
D) (@), ®). () () and (e) D @O0 TE
SPACE FOR ROUGH WORK / T% =14 & ford g
Set - C
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143. A fish dies when it is put in an aquarium 143, S/ T HST i & 399, T HIH
filled with previously boiled water but ATE W 3T R Y §EH § o TR |
cooled to room temperature. This ST ST &, 1 % 5L A 7, Fifh EEEn
happens because the water in the 1 U
aquarium is :

(A) Depleted in minerals (A) == e B

(B) Depleted in oxygen (B) ffawfer fed &

(C) Unfit for drinking by fish (C) e g W AfE T ¥
(D) Unfit for swimming by fish (D) HSe & T A T €

144. Following instructions are given in a 144. T ur H e Frdwfera €

poster :
(a) Do notlet water collect around you. (a) A 3T I GHT I S A 8 S |
(b) Keep water pots, coolers and tanks (b) T F T, Fg i R HE
clean. pecll .
(c) Spray oil if water has collected at (c) -~ 4fQ ford) T Y Ol TehE @ S R
some place. a1 o =1 fossa B
(d) Use nets in houses to protect (d) T F e g =T H Sl B gEn
yourself. F
The aim of poster is to create awareness = § frm T & TiE | Heliea Shedhal
about the spread of : 1 U= F eI T e = @7 2
(A) Dengue and Eye flue (A) EURCEEIER S
(B) Typhoid and Cholera (B) THEWES UH £ |
(C) Dengue and Japani encephalitis (C) ST SHHT Hfedwh wa
(D) Smallpox and Malaria (D) == TE HA
SPACE FOR ROUGH WORK / T% =14 & fe@ w7
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- = i




B i G

145. Which is the 1

(A)

Guava

(B)

Carrot

(C) Lemon

(D) Apple

ghest source of Vitamin A ?

146. Aphim, Morplfin, Heroin, Methodine are ~ 146. ¥, AR, 834, WS anfe fhweh
2
the examples |df : T § ?
(A) Sedativeland tranquilizer (A) Hems® ud dfeeenEst
(B) Opiate ffarcotics (B) ifyue aIfeR
(C'  Stimulants (C) 3ET=H
(D) Hallucirogens (D) TFEAS=
147. The group in|yhich words are intimately ~ 147. F€ ¥=3 §7¢ oy vee ufte ®9 9 gafd
related : g:
(A) Iron, Haemoglobin, Anaemia, (A) i, Brrelte, AT, e
Emblica
(B) Mosquip, Malaria, Anaemia, Iron (B) Hws, Heife, WHifhe, ©E
(C) Tron, Mlaria, Anaemia, blood (C) T, el T, W
(D) Malariaj Anaemia, Mosquito, blood (D) Hedidl, uHI T, =y, T
SPACE FOR ROUGH WORK / T& @14 & ford e
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148. A teacher has to educate children about
ground water pollution by fertilizers.
Which of the following he will name ?

(A) Ammoniacal Fertilizer
(B) Nitrate Fertilizer
(C) Potassic Fertilizer

(D) Compost Fertilizer

149. Which of the following is not an objective
of teaching social studies at primary
level ?

(A) To understand his family
(B) To understand society

(C) To understand that a child is a part
of society

(D) To keep record of crimes in the
society

150. Moon changes its shape everyday due
to:

(A) Movement around the sun
(B) Movement around the earth
(C) Movement from left to right in space

(D) Movement from east to west in sky

-00o0-

148.

149.

150.

@mwaﬁwmg—aﬁ%meﬁr
foreq sl 1 & ) 9% fr= H A R
ATH ST 7

(A) SRR FHE

9]
—
al
L
22
rJ

it T B FrRfataa § o g
AIA TG I I4YE TE 82

LY

(A) 31T TRER ol |
(B) TSI I FHE

(C) @@ TwEr s w1 e ®

(D) Wﬁlaﬁmﬁaﬁr@@r@m

== gfafes o79| SRR fehedh SHROT Sgedl
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SET - C
I 3o Tt o FE : 230 €2 i ( fireRad 3t : 150
Time for marking answers : 2.30 Hours JL ﬁ Maximum Marks : 150
T'ﬁE' :
1. 39 yE-giasld fm am e .
1. VI 9Ff 9ot faenre ud e v : 1-30
2. Ty . &= : 31-60
3. qdrE W ;S : 61-90
4. wgduy i £ 91120
5. 4w : TteroT : 121-150
TF 9 1 3§ 1 81 Woft v w1 arfrard ¥
2. 9¥E ¥ IW, F|TE OMR (ST-T9%) W ifeha sife | _
3. RUNEE &l feran wma ) : ‘
4. T ot e H[Fageret A1 @ 96 UE Qe B H 9E afsdd 81
5.  OMR STW-TFH %1 W4IT &7d F0g TH 13 AWEUHT 7 /3%, o8 98 v o0 =1 398 g @
e anft ug 9 o woraey o8 wle 8 9 |
Note :
1.  This QuestiomiBooklet consists Parts namely :
1 First Pj‘it : Child Development & Pedagogy : 1-30
2 Second| Part : Hindi : 31-60
3. Third Bart : English : 61-90
E Fourth l]art : Mathematics : 91-120
5 Fifth Paft : Environmental : 121-150
Each questionfcarries 1 mark. All questions are compulsory.
2. Indicate your pnswers on the OMR Answer-Sheet provided.
3.  No negative pharking will be done.
4. Use of any tyge of calculator or log table and mobile phone is prohibited.
5. While using fnswer-sheet care should be taken so that the Answer-sheet does not get torn
or spoiled dugjto folds and wrinkles.
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